
Subtraction Strategies -Subtracting 10

625 - 10 = 615 443 - 10 =

141 - 10 = 373 - 10 =

613 - 10 = 603 - 10 =

591 - 10 = 431 - 10 =

862 - 10 = 334 - 10 =

935 - 10 = 845 - 10 =

130 - 10 = 502 - 10 =

Name:___________________________________________   Date:_________________   Score:_____________
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 Answers

625 - 10 = 615 443 - 10 = 433

141 - 10 = 131 373 - 10 = 363

613 - 10 = 603 603 - 10 = 593

591 - 10 = 581 431 - 10 = 421

862 - 10 = 852 334 - 10 = 324

935 - 10 = 925 845 - 10 = 835

130 - 10 = 120 502 - 10 = 492
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